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question answer

1 £5.40

2 51cm

3 200g

4 48 squares

5 80 squares

6 £5.31

7 £68

8 100ml

Multiplication Wheels

Multiply the numbers by the middle number.



1. 2 × 1 × 2 = 2. 3 × 2 × 3 =

3. 3 × 0 × 3 = 4. 4 × 3 × 2 =

5. 4 × 3 × 4 = 6. 5 × 4 × 5 =

7. 2 × 8 × 2 = 8. 2 × 7 × 4 =

9. 5 × 2 × 4 = 10.  1 × 3 × 9 =

11. 2 × 4 × 8 = 12.  2 × 3 × 9 =

13. 9 × 2 × 5 = 14.  2 × 2 × 9 =

15. 4 × 4 × 4 = 16.  3 × 3 × 3 =

17. 6 × 2 × 6 = 18.  7 × 1 × 2 =

19. 4 × 2 × 8 = 20. 10 × 2 × 3 =

Multiplying Three Numbers

question answer

1 72

2 25 possible combinations

3 7

4 20

5 × 4 + 25 × 2 = 250

6 90 + 10 + 9 + 8 + 7 + 6 + 5 + 4 + 3 + 2 + 1 = 
145cm

7
 

e.g. Raju + Sunnah = 35   Triplets = 3     35 × 2 + 
3 × 3 = 79

8 12 possible combinations
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question answer question answer

A.

1 12 10 31

2 82 11 0

3 0 12 0

4 25 13 50

5 342 14 50

6 212 15 3983

7 0 16 26

8 1 17 1

9 0 18 0

B.

1 72 ÷ 1 = 72

2 79 x 1 = 79

3 65 x 0 = 0

C.

Beginning 
Number ÷1 ×1 ×0 ÷1 Ending 

Number

32 32 32 0 0 0

Beginning 
Number ÷1 ×1 ×1 ×0 Ending 

Number

1 1 1 1 0 0

Beginning 
Number ×1 ÷1 ×1 ÷1 Ending 

Number
10 000 10 000 10 000 10 000 10 000 10 000



Multiplying Mentally Using Known Facts
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The Commutative Law of Multiplication

In most cases it is better to multiply the larger by the smaller 

×

question answer

1 501

2 411

3 1044

4 957

5 3145

6 2502

7 1170

8 5553

9 972



 1.       24 
 ×   4 

96

 2.      22 
 ×   5 

110

 3.      18 
 ×   5 

90

 4.      26 
 ×   3 

78

 5.       12 
 ×   5 

60

 6.       48 
 ×   2 

96

 7.      41 
 ×   9 

369

 8.      31 
 ×   7 

217

 9.       44 
 ×   7 

308

 10.      32 
 ×   7 

224

 11.      62 
 ×   3 

186

 12.      66 
 ×   4 

264

 13.       82 
 ×   4 

328

 14.       87 
 ×   8 

696

 15.      94 
 ×   8 

752

 16.       53 
 ×   8 

424

 17.       85 
 ×   4 

340

 18.       75 
 ×   3 

225

 19.       68 
 ×   6 

408

 20.       78 
 ×   7 

546

The Commutative Law of Multiplication

question answer

1 2 × 5 × 12 = 10 × 12 = 120 

2 13 × 2 × 2 = 26 × 2 = 52

3 5 × 4 × 10 = 20 × 10 = 200

4 5 × 2 × 5 = 10 × 5 = 50

5 5 × 5 × 4 = 25 × 4 = 100

6 5 × 12 × 10 = 60 × 10 = 600

7 5 × 2 × 14 = 10 × 14 = 140

8 0 × 13 × 7 = 0 × 7 = 0 

9 2 × 2 × 2 × 11 = 8 × 11 = 88

10 10 × 10 × 136 = 100 × 136 = 13 600

11 2 × 5 × 3 × 4 × 1 = 10 × 3 × 4 × 1 = 10 × 12 × 1 = 120
 


